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In a Row of 72 Students Akhand is 26th
from left what is his Rank from right side
of the Row?

72m3ﬁﬁq%tr%ﬁ§%mﬁzsa

.qT
EFCIT%?

A. 46
B. 48
C. 47
D. 57
E. None of these




In a queue of Bank Hitesh is 18st from front and
25th from back side of the queue. What is total
no of person in that queue?

d&% B! TP pdR T fZd=T 31 A 18.d 3R FAR &
e 9 25 § WM R g1 39 ®dR I Afad f o
T T 872

. 46
. 43
. 44
. 42
None of these

moow>



In a merit list of 70 students Nayika’s rank iIs
28th from top among girls only and 21st from
bottom among boys & girls. How many boys
rank is above Nayika’s rank ?

GBI B T Hqd
;I%ﬁﬂﬁ Y%ﬂﬁ 28_ df aﬁ? dedl 3R
aﬁ%m‘rﬁﬂ%@rmmwél dS D ARYDI
P YD A JHW dl 96 B2

22
21
23
26
None of these

moow>»



In a row of 27 Students Rohit is 7th to the left of
Mayank who is 17th from left side of the row.
What is rank of Rohit in that row?

27 S ﬁ,ﬁﬁﬁ%ﬁ%%@é@??ﬁ
R I Ufed & 915 3. | 17 9 RIH TR g1
39 Ufad ¥ vifed o1 T H1 87

18th from left
18th from right
10th from left
Either B or C
None of these

moowr



In a row of 27 Students Rohit is 7th to the right
of Mayank who is 17th from left side of the row.
What is rank of Rohit in that row?

fﬂsﬁaﬁ A Afed TP & 3R 7.9
e ?ﬁ%iﬂ% @r17%a§1=rw7%|
Wtﬁ%  Jifed BT AT HT 872

. 4th from left
18th from right
24th from left
Either Aor C
None of these

moow >



In a row of 43 members Dev is 9th to the left of
Devesh who is 11th to the right of Diwakar who Is
19th from right side of the row. What Is rank of
Dev in that row?

43  PIUB Ufag H g, caq P A A 9 d

%’Gﬁﬁ %a%@r d UM %’Gﬁ
B T S e N L e e
T I HT 22

18th from left
17th from right
27th from left
Either B or C
None of these

moow>»



In a row of 47 Students Rakhi is 11th to the left of
Mayur and 23th from left side of the row. What is
rank of Mayur from right side of the row?

ma’rﬁ tr%rfmtqﬁ & aﬁ'\f af
47 w ar%;ﬁvﬁ 'q’r'.gc 11
%aréaﬁv@mqg

. 34th from left
14th from right
28th from left
Either Aor B
None of these

moow >



In a Row of 43 members X is 17th from right and Y
IS 19th from left side of the row. How many person
are there between Xand Y ?

43ﬂ$ﬁﬁﬁxﬂ§mﬁaﬁg%ﬁ%ﬂ%

moowe
© U1 N

None of these



In a Row of 43 members X is 29th from left and Y

Is 36th from right side of the row. How many

person are there between X and Y?

43 Tl o) Ufag # X 918 3R V.29 4 3R v Ufag

% é}ﬁ?@fssawwél X 3R Y & o= fra
?

27
26
20
22
None of these

moow>»



In a Row of students X is 18th from left and Y is
21st from right side of the row. If there 11 students
between them then How many students are there In
that row?

Sl @ Ufad H X aﬁvﬁw%aﬁ?\(v{%%aﬁs‘
AR 21 9 ™M R 81 If¢ 3

tfea o fraq 8 €72

26

. 31

. 50

Either Aor C
None of these

moowpr



In a Row of students X is 27th from left and Y iIs
33rd from right side of the row. If there 19 students
between them then what could be maximum total of
students in that row?

@ﬁgﬁﬁgxq%mﬁzgaﬁvq%%%aéaﬁ?ﬁ%
333 M R 39H 39 U
mﬁ&ﬁ\ﬂWWWﬁﬂ%%?

26
27
60
29
None of these

moow>»



In a Row of students X is 44th from left and Y is 23rd
from right side of the row. Z is exactly mid of X and
Y. If there are 7 students between Y and Z then what
could be minimum total of students in that row?

O Bl Ufed § %aﬁ'\ftri%r% 3R Y
23%@41=rtr\f |Xza>T<q 44 gfey aﬁ%

73? af 39 ufaa aﬁwm

. 87
. 67
. 50
None of these

rnoow_>



In a Row of students X is 24th from right and Y is
13rd from left side of the row. If there 12 students
between them then what could be total of students
In that row?

O @t ufed § X, e A 24 9 SR ufed & 1@ 3 &
Ylsé‘,wmgluagm%manw%%ﬁ
& Bl Bt JA=T HT ?

. 49
. 48
23
Either 49 or 23
None of these

moow>



In a Row Akhil is 17th from left and Kripal is 23rd
from right side of the row. If they interchange there
position Akhil becomes 29th from left. What will be
total strength of the row ?

o Ui ¥ eifaa ’.@M?%'aﬁ?mt’r%%ag
3R ¥ 23 d R”IM_WR g gf¢ 9 39T VI d¢dd 8
T aT¢ | 29 d WU W Ugd STdl 8| Ufdd &t oo
ST faat gifi?

. b1
. 52
. 45
. 46
None of these
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In a Row Akhil is 17th from left and Kripal is 23rd
from right side of the row. If they interchange there
position Akhil becomes 29th from left. What will be

position of Kripal from right after changing position
?

Gﬁ?@%wﬁgr%ﬁw%aﬁvwﬁ Wﬁ%ﬂ%

. 34
. 36
. 32
. 35
None of these

>

mo O



In a Row Akhil is 17th from left and Kripal is 23rd

from right side of the row. If they interchange there

position Akhil becomes 29th from left. How many

person are there between Akhil and Kripal?

o Ufda § 3if9d 91¢ | 17 d 3R $uTd ufdd &.a1g

3R ¥ 23 d WM UR g1 Tfe d 31U+ RYIH g&ad g al
q1¢ 9 29 d R G Ug™ I1dT1 3. 3ad

PUTA & A fpa 18?2

11
12
10
13
None of these

moow>»



In a Row Akhil Is 27th from left and Kripal is 13rd
from right side of the row. If they interchange there
position Akhil becomes 18th from left. What will be
total strength of the row ?

g e
B Su i SR b W-ma%arg

e Wﬁéﬁﬁiwwuﬁm% D Ha

. 30
. 29
. 31
. 23
None of these

moowm >



In a Row Akhil is 27th from left and Kripal is 13rd
from right side of the row. If they interchange there
nosition Akhil becomes 18th from left. What will be
nosition of Kripal from right after changing
position?

Ufed § sifad 918 | 27 9 3R $UTd Ul &.g15
irqﬁ?agr”a 31 '?:%%fa HauLAs AL '“""aaaﬁé'ﬁa;
18 Slldl &.

mﬁﬁaﬁ@rﬁraﬁﬁ%@@ﬂ?

. 04
. 02
22
21
None of these

moow>



In a Row Akhil is 27th from left and Kripal is 13rd
from right side of the row. If they interchange there
position Akhil becomes 18th from left. How many
person are there between Akhil and Kripal?

o Ufda | srfaa e d %aﬁvmtﬂ%%
aﬁ'\fﬁw%wug%{ & ammwmaaaﬁ Ea’rlg
amﬁm%wm%wgaﬁrrm%

PUTd & HA

. 09
11
10
. 07
None of these

moow>












